


| . 2

In a triangle ABC, the bisector of
angle BAC meets BC at point D such
that DC = 2BD. If AC - AB = 5 cm,
then find the length of AB (in cm).

ABC ¥, ®IVT BAC &I

wﬁwaeﬁﬁgnwsﬂm
ferar @ f& DC = 2BD 2| Ife AC -
AB = 5 9}, 91 AB &I o413 (4#H #)

SITd DI |
C Lt (b) 7

(c) 10 (d) 12
€ st



Simplify the following expression:
Fre1 aIoid &1 axellad o |

cosA . sinA
l1-tanA 1-cotA

(a) (1 + sinA) cosA
(b) 1 + cosA
(c) 1 +sinA

4] cosA

sinA




A number ‘Q’ is directly
proportional to cube of x and
inversely proportional to fourth
power of y. The value of ‘Q’ is 68
when x is 4 and y is 2. What will be
the value of ‘Q’ when x is 9 and y is
3?

Uh 9T ‘Q° x & U9 & AU
AR y &1 dtefl ard & gobarurd
gl 81 ‘Q” &T HIF 68 & W4 x &I
A4 4 3R y &1 419 2 2| ‘Q’ &I HH
T BT W14 x BT HIH

HH 327
(a) 169 C (b) 144

) 153 (d) 81




If 45“/0 of 1500 + 35'% of 1700 x%

@ L3SH5TV = s/ 3135 o 3175, find the value of x.

1279 Ife 1500 BT 45% + 1700 HT 35% =
23S 3175 @1 x% ®, O x & AH HMd
DI |

Yo ) 40 (b) 30

® % | § (c (d) 35
XU Y @
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The average of twelve numbers is
42. The average of the last {fiwve

u rs is 40, and that of the first
fo mbers is __44. The sixth
number 1s less than the fifth
number and 5 less than the seventh
number. The average of the sixth
and seventh number is: T

IRE GEIRN &1 Ad 42 2| i
Urd G BT 3ited 40 2, 3N
Ugoll IR G&AT3 BT 39d 44 © |
Bl =T yiad] 9 6 3R radi
=T 4 5 &9 o | 3R radi
g1 &7 39 2

(a) 43.5 (b) 45.5 @
(c) 44.5 \g) 41.5




. AB is a chord of a circle with
centre O. C is a point on the
circumference of the circle in the

minor sector. If ZABO = 40°, what is
the measure (in degree) of ZACB?

AB, ©% O dldl 9d @I offdl 81 C,
ay Broags ¥ gd @ aRfr v
fig 2| afd 2ABO = 40° 8, 94 ZACB
o1 1g (Y #) foah 22

(a) 110° (b) 120°

\_{e1130° (d) 100°




A alone can complete a work in 9
days more than (A + B) together and

B alone can complete a work in 36
days more than (A + B) together. In

how many days can A and B
together complete the work?

A 3D Uh HId &l, (A + B) 9 9 fa=
A d YT HY Ghdl 2 X B dbd
Ud &1 $l (A + B) 9§ 36 fa1 Jftrd
4 g1 B 9dhdl &1 A AR B A
94 & &I fhad fear d qrr 9%
qhd 27

(a) 15 days (b) 21 days
(c) 12 days 1[}[/18 days



A__|Vikas borrowed m t fS

sunpe interest repayable in
equal instalments. What will be the

Ll30 = 6‘{ §UX§_ annuﬁl inStalment payable by him?

faerg A IR 999 foedl 4 5%
TIRAT &GNl TR 6,450 U DI
SR o] S9® g§RI <d
e fow Far 8fi?

(a) Rs. 2,100 (b) Rs. 2,000

l (c) Rs. 1,800 )(d) Rs. 2,200
)
/)

h | M&auﬂgf’”—”\i @

100XY + (@324 S 5




In a circle with centre O and of
radius 13 cm, two parallel chords
are drawn on different sides of the
centre. If the length of one chord is
10 cm and the distance between the
two chords is 17 ¢m, then find the
difference in lengths of the two

chords (in cm).

&5 O IR frear 13 4+ 9 v 9«
7 a’»‘}' a?_ﬁaﬁl:f qa_fu?aimﬁfm

o 4k @1 <8 17 9N B, 9 <l
St & «ars # Ifax (@ ) sma
DI |

(a) 10 (b) 24

(c) 12 \(d) 14



An item costs Rs. 400. During a
festival sale, a company offers a sale
discount that offers x% off on its
regular price along with a discount
coupon of 10%. The price of the
item after using both the sale
disco and the discount coupon,
is Rs ‘* hat is the value of x?

)‘Q? N @1 BHd 400 Ud 2|
Mﬂf aﬂmaﬁﬁaﬁ$a‘lmk’$$u:ﬁ
Ud 9l B USH &l & Wl 10%
P B¢ HUT B W AW Frafid o
WR x% I B UM dxdl & | {4l
BC JR 8BS U CIHl BT SUII
B b dIq I DI DIHd 216 DU

2| x BT 919 T 27

(a) 30 48] 40
(c) 35 (d) 25




Ifx+y+3=0, then find the value

ofx3/y3 }xf+

x+y+3 0, fﬁx3+y3 Oxy +9
&1 9 2|

(a)-36  _ff-18

(c) 36 (d) 18
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(a) 121
(c) 100

@ (b) 111

U 120

A fruit seller sells 45% of the
oranges that he has along wi@h one
more orange to a customer( He then
sells 20% of the remaining oranges
and » goynees to a second
customerf HE then sells_90% of the
now remaining oranges to a third
customer and is still left with 5
oranges, How many oranges did the
fruit seller have initially?

U$ B faodl U 99 HivE Saxi
&1 45% Ud TTed &I Udb IAfaiR®
R @ 91 99dr @) R 9§ 9N
MRl &1 20% GER TS Bl 2

98 4 §d Y Hal &I 90% U
dR UTE® T:h‘T d9dl & QIR SUD
g It Ht 5 YR 99 Y T | B
famar & urg URY A fHad gav 47
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If a train runs at 40 km/h, it
reaches its destination late by—1]
minutes. But, if it runs at 50 km/h,
it is late by 5 minutes only. The

—————

correct time for the train to
complete its journey is:

gfe &g 29 40 fed /ger &) fa |
goldl ®, df 98 391 Tded UR 11
firic @1 <& 4 ugad! 2| dfeq, afe
¥g 50 fodl /ger &) Ifa | add! 2,
dl I8 @dd 5 fiFe @1 <8 9 ugadl
g1 9 & A=A G BA BT GE
a9y 2:

(a) 21 min \Jbl’ﬁ min

(c) 20 min (d) 18 min
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lp’ men can finish a piece of work

in 8 days, while 20 women can
finish it in 16 days. 12 men and 10

women work at it continuously for 6
days. In how many days can 10
women finish the remaining work?

16 J%Y Udh &1 &l 8 fef ¥ g«
HY Idbd v, Wdfd 20 Af2AC 39 16
fesit & |urg d) ghdl 2 | IEH 12
7oy 3R 10 ARG AR 6 fe=r
dd HRl HXd B8l UY BRI Bl 10
Afeard fead fesf & 9@ &
Habdl B °

(a) 12 days Mays

(c) 10 days (d) 6 days




}G’men can finish a piece of work
in 8 days, while 20 women can
finish it in 1L6-days. 12 men and _10
women work at it continuously for. 6

days. In how many days can 10
ﬂ_ﬂ . ® .
women finish the remaining work?

16 49 Udb &1d &l 8 a1l # wara
P gbd =, widfd 20 AfzATd 39 16
fey & gared &) Wadl & UH 12
7oy 3R 10 AR @arR 6 fa=l
dd H1d HXd Bl AY HA Bl 10
Afgemd fead A & 9@ &)
gahdl B °

(a) 12 days .,nsfs days

(c) 10 days (d) 6 days




Mukesh took some loan from a
bank at the rate of 5% per annum
compounded annually. If he cleared

his loan by paying Rs. 7,05,600 at
\«6\ ‘4-?({00 the end of 2 years, then what was

W the amount of loan that he had

taken?

Yx) LPPU A TP 4 | 5% aiftied ahgly
s 2F %DSEW $8 *®ul forar| afe S 2

ad & 3(d q 7,05600 ¥UA I WA
\)N}‘ab-p-d N ®XD YT K0T DL, dl SEd FUI

FoSbxloofhxed W KT e
\1\4 \ | Rs. 6,1_0,000\)(/

. o ¥ 0 — - (c)Rs. 6,68,000
(d) Rs. 5,60,000 X




AB is a diameter of a circle with
centre O. A tangent is drawn at
point A. C is a point on the circle
such that BC produced meets the

tangent at P. If ZAPC = 62°, then
find the measure of the minor are

AC.

AB U& g & r 9 2 a1 @5 o
gl fdg A Ud Wyl vEr &=
aﬁﬁélcwWWQﬂTﬁg%ﬁi
BC &I 31 de1 WX W3 ¥E&T 4§ P
R fyaar 21 afe zapc = 62° 8, @l
g 919 AC B AT STd BT |

(a) 31° (b) 62°

(c) 28° y}/se*“




50 cm
(c) 48 cm

(b) 40 cm
(d) 30 cm

Two common tangents AC and BD
touch two equal circles each of
radius 7 cm, at points A, C, B and D,
respectively, as shown in the figure.
If the length of BD is 48 cm what is

the length of AC?

gl SHIfss w3 IWIU AB 30X BD, 7
a4l f3sgr 9red ©F eXe} g7l @l
wae: fagan A, ¢, B 3R D WX Wy

&l 8, oiar fe smefa § <erfar
2| afe BD @) <qars 48 4#) 2 ai
AC @ ¢idIg a1 =7

NAPrES
C » d\f&,ﬁﬁ




A motor-cycle covers 50 km with a
speed of 25 km/hr. What must be
the speed of the motor-cycle for the

nex: S0 km journey so that the
averge speed of the whole journey is

30 km/hr?
Udh Hicxdrsfed 25 fedl/ger &)
Tfad 4 50 fHf @ g a7 sl 2
el 50 fHf & I=r @ forw
Hiexarsfea o wfa sra sifve arfe
g AT @ taa wfa 30 fHHE /e
&l |
1 1

(a) 255 km/hr (b) 355 km/hr

Jz)’ST% km/hr (d) 33% km/hr



If A is the average of first 5 natural

B is the average of
T numbers and
'5\1 M first 5 natural numbers which are
)f»)/ & perfect squares, then what is the
averge of A and B?
-3 @'FBHﬁAﬁEﬂswﬁ?ﬁﬁwﬁm

o

13
2

\o stea 2 ok B ugeh s PIGARED
WER &1 JAtEd 2 ol gl 97 @,
A IR B &1 3id FI1 27

(2) 8 (b) 10 ] 3
\,xeyp (@9 ﬁ,alp
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The bisector of /B in AABC meets
ACatD.IfAB=12cm, BC =18 cm
and AC = 15 cm, then the length of
AD (in cm) is:

AABC ¥ /B &1 GHfgHTSd AC 9 D
R fiear 21 afe AB = 12 91 BC =
18 9t 3k AC = 15 9t 2, @ AD
& dqrg (|QH 7) @7 287

(a) 9 \,Fb‘l{

cl C (o) 12 (d) 5



o If 3sec20 + tanf - 7 = 0, Ok 90°,
9."7/ng- then what 1is the value of

2sinB + 3cosb -
cosecO +secO |
S I 3sec20 + tand - 7 = 0, 0¢ 90°, i
J-Z_J(ZS'L 2sin0 + 3cosO T AT
cosecHO + secO
S 5
@ \_/("ﬂ"f (b) A
(c) 10 (d) 442



The diameter and height of a
cylindrical tower are 10 m and 21
m, respectively. What will be the
cost of painting its curved surface,

at the rate of Rs.8 per m?2? (Use = =
22/7)

U do-dR HAR &1 a3
$dls HHIA: 10 Hex 3R 21 Hex 2
8 $U ufd a7 #HIeX @1 X 9 sHDI
gHMACR ¥dg & Uc & &I drrd
@1 B2 (n=22/7)

)qa) Rs. 4,980 <] Rs. 2:2}0
)@;) Rs. ;,-4\30 >@) Rs. g}so




(a) 84 km/h UL5]90 km/h

(c) 96 km/h

(d) 88 km/h

The Rajdhani train travels in a
straight line at a constant speed of
75 km/h for a particular distance ‘d’
and then travels another distance
equal to ‘2d’ at a constant speed of
100 km/h in the same direction as
earlier. Find the average speed of
the train during the whole journey?

el ¢ e fauy §ff ‘@’ & forg
75 fedl/ger @ fiRaR w1fa 4 s
Hefl @ A I Il 2 AR R
Ugd @I dxe 9dr feIm # 100
fedl /ger & ReRr wfa | «2d @
W P MR ¢ T Fdl 81 @@
ITEAT @ QIR o @I 3d Tfd S1d
BIFTA?



A, B and C can complete a work in
4 days, 8 days, and 16 days
respectively. If all three work omn
alternate days such that A works on

first day, B works on second day, C
works on third day

and A works on fourth day
and so on, then d the number of

days in whic he work is
done =
A, B 3R C T &M -4 oo



®M Al & 3 A dld e &M
HAl & 3R g4I avg, df S99 e 3
9T 9d eIt =" 175 ®ad)
M YT 8l gD ®.

ﬂ days (b) 5 days

(c) 9 days (d) 11 days



A vertical pole and a vertical tower
are on the same level ground in
such a way that, from the top of the
pole, the angle of elevation of the
top of the tower is 60° and the angle
of depression of the bottom of the
tower is 30°. If the height of the
pole is 24 m, then find the height of
the tower (in m).

Udh SR O] 3R Tdh  IEieR
AR o9 @ s B dd U 39
yeR & fo @™ & M 4 R &
sfid &1 ST BT 60° B IR HHER
& do BT 3JdIHT HIvT 30° 2| Il
MR &1 Sars 24 Hex 2, d @™
31 Sars (Hiex d) Fa sty |

(a) 24\3(3+1) (b) 24(+/3 +1)
(c) 72 dy96




The price of petrol shot up by 5%.
Before the hike, the price was Rs.

L\Y 82 per litre. A man travels 3045 km
Qo?; “every month Mives a
mileage of 15 per litre. What is

the increase in the monthly

/\) expenditure (to the nearest Rs.) on

- \.1\ \ﬁ QB’ZD the man’s travel due to the hike in

the petrol price?

Uglid @I dFd § 5% @I dfg 8% |

A2 ﬁuﬁaﬁﬂﬁazmnﬁraﬂﬁ
- lylwms‘\'qﬁﬁsmsﬁm’r
07 &) ur=r axal & 3R SUP) BR 15

¥832:3 foift ufa <ficx &1 wgedw <<l 2
Uglad @ dFal d gfg @ dRO

(a) 944 b) 859 a3t N AET W ARG A

(c) 758 L4832 gilw LD ﬁ) q feah qﬁa' Es(



L, B, .

A man purchased 25 litres of milk
at the cost price of Rs. 25 per litre.
Now he added 5 litres of water to it
and sold the mixture at the cost
price. Find the profit percentage for
the man.

U$h 3TeHl °4 25 9 ufd oflex &l
ANTd i WX 25 oflex §° @XIgl|
4 SU4 sUH 5 dflex Ul e

IR fAZor S A eI WX 499
fear) Su a@kpe &1 @ wfdera sima

DITY |
(a) 10% Tb) 20%

(c) 25% (d) 15%



Which number is one less than the
sum of all the prime factors of

23107

&9 df 9= 2310 & G T
eSSl @ AT H Ud bH 27

(a) 33 (b) 29

M LSBT (d) 25



The difference between the two
perpendicular sides of a right-angled
9 triangle is 17 cm and its area is 84
cm?, What is the perimeter (in cm)

of the triangle?

B Udh GHDIUT %I‘l\_rl ! < d99d
ol ﬁmﬁa%ﬁamagﬁm};gﬁ%ﬁﬁ%m
etk 84 | ol DI

- P e

(a) 36 (b) 49

+ — (c)/56 (d) 40

b T - €)
'BM




A tangent is drawn from a point P
to a circle, which meets the circle at
T such that PT = 10.5 cm. A secant
PAB intersects the circle in points A
and B. If PA = 7 cm, what is the
length (in cm) of the chord AB?

fdg P 4 WR Uh Wy Y@r didl
STl @, 9d @ T W 39 YR

frardt 2 f& PT = 10.5 4 2|
Bqd PAB d< &l fdg A 3R B W
dlcdl & | afe PA = 7 91 2, @ 91U

AB &1 ddarg (A ¥) @7 22
(a) 7.75 (b) 8.5 @

- ,,@(ﬂ (d) 8.45




